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Do you remember what is ....
"= {1 more than 9?
"= 1 more than 99?
. "= 1more than 999?

P

VYes, | know .... \,\
</ "= {1 more than 9 is 10 % feaae
\ "= 1 more than 99 is 100 99 +1=100
4

m= 1 more than 999 is 1000 999 + 1 =1000

\\_/\\_/\ sy

NUMBER ONE MORE THAN 9999

If we have 9999 blocks .....
(9000) (900) 90) (9

and we add 1 more block [ ], we get 10000 blocks.
9999 + 1 = 10000

We read 10000 as Ten Thousand.

: i




There are five digits in ten thousand.
So,
* 9999 is the greatest 4-digit number.

* 10000 is the smallest o-digit number.

The five places of 3 9-digit number are—
ONES, TENS, HUNDREDS, THOUSANDS, TEN THOUSANDS

Ten Thousands Thousands Hundreds

Tens

On the abacus, 10000 is shown like this—

T.ThThHTO
R

[
| —

10000 => Ten Thousand

See the representation of some 5-digit numbers on the abacus.

TTh Th H
A




Worksheet 1

i) T.ﬂ'h Tﬂh H 'ﬂ' O
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2. Represent the following numbers on the abacus.

(@)
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(b)
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1. Write the numbers represented on the following abacus.
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Numeral Number Name
Ten thousand
10000 Ten thousand. Forty thousand
| 40000 Forty thousand.
|| 65000 Sixty five thousand.
i 72500 Seventy two thousand five hundred.

83750 Eighty three thousand seven hundred fifty.

| 99999 Ninety nine thousand nine hundred ninety nine.

INTRODUCING ONE LAKH

Now, let us see which number is one more than 99999.

99999 + 1 = 100000

. We read 100000 as One Lakh. |

—

How many digits L ‘ There are
=~ are there in 100000?

NG ¥ ~ :
- e

$ix digits.

e 99999 is the greatest 5-digit number
e 100000 is the smallest 6-digit number.

The six places of a 6-digit number are—
ONES, TENS, HUNDREDS, THOUSANDS, TEN THOUSANDS, LAKHS.




1 lakh = 10 times ten thousand

On the abacus, 100000 is shown like this—

L T.'L'h Th I-ﬂi

' ‘ |

1i

[

100000 => One Lakh

-—|
@)

Similarly,

L
i
ﬂ

400000 — Four Lakh

One lakh,
Two lakh,
Three lakh,
Four lakh .....

pie- T.'g[h Th H

—
@)

We extend the numerals beyond one lakh in the same way as we did from
10000 to 99999.

Numeral Number Name
100000 One lakh.
300000 Three lakh.
l 510000 Five lakh ten thousand.
725000 Seven lakh twenty five thousand.
863260 Eight lakh sixty three thousand two hundred sixty.
999999 Nine lakh ninety nine thousand nine hundred ninety nine.
r; =t JE wew— | =3 ad ) e X ,1;&
|| Remember
100000 is the smallest 6-digit number and 999999 is the greatest 6-digit number.
\%“_______.37 =) ) )i 1" 2 s = 1’:
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Worksheet2

1. Read loudly the following numerals.

(a) 20000 (b) 33108 (c) 960002 (d) 77010
(e) 700000 (f) 382910 (g9) 95766 (h) 810000
(i) 943256 (j) 88288

2. Write the number names for the given numerals.
(@) 25002 (b) 800000 (c) 51008 (d) 521381
(e) 900009 | (f) 11000 (g9) 111100 (h) 625000
(i) 43021 (j) 52611

3. Write the numerals for the given number names.
(a) Fifteen thousand four hundred sixty five.
(b) Nineteen thousand three hundred fourteen.
(c) Five lakh.

(d) Forty seven thousand two.

(e) Three lakh fifteen thousand three hundred.

(f) One lakh eleven thousand one hundred eleven.
(g) Fifty thousand five.

(h) Eight lakh fourteen thousand three.

(i) Seven lakh seven thousand seven.

() Nine lakh nine thousand.

4. Name the six places of a 6-digit number.

5. Write down the greatest number of S-digits and the smallest number of
' 6-digits. How much is the difference between the two?




or of

PLACE VALUE CHART

e

What are the six places -~
of a 6-digit number?

g

S

R ——
P T g,

e Ones, Tens, Hundreds,
= Thousands, Ten Thousands and Lakhs.

_— -
—————

R N

— —

Keeping the places in mind, let us make a place value chart of a 6-digit number.

PLACE VALUE CHART

Lakhs Ten Thousands Hundreds Tens Ones
100000 Thousands 1000 100 10 1
10000

Observe the chart carefully. See that:
o the smallest place (ones) is on the extreme right.
e each place on the left has a value 10 times more than the value of the place
on the right side.

10 times 10 times 10 times 10 times 10 times
Ten Thousands Thousands Hundreds Tens Ones

/ /
/ /

Lakh; Ten Thousands Thousanc;s Hundreés Ten; Ones
10000x 10 1000 x 10 100 x 10 10 x 10 1%x10 1

Now, let us enter numerals, 8436, 49018, 643821 in the place value chart.

T

Lakhs Ten Thousands|1 Hundreds Tens\ Ones
100000 | Thousands 1000 | 100 10 | 1
L TTh Th H T O 10000
S 4L "3.B =7 8 4 3 6
4 9 0 1 8 — 4 9 0 1 8
6 4 3 8 2 1 - 6 4 3 8 2 1




Worksheet 3

1. Given below are some numerals. Draw a neat place value chart and ente

these numerals in it.

(a) 84621 (b) 493
(e) 100000 (f) 50009
(i) 46201 (j) 867430

PLACE VALUE

Do you remember
the place value of:

" 3in43is3or3ones

(c) 832401
(g) 623981

(d) 7777
(h) 9987

The place value of:

3 U 8 in 84 is 80 or 8 tens \
8in 84 /  7in 780 is 700 or 7 hundreds L=
7in \_ 2in 2835 is 2000 or 2 thousands |
2 in 2835 s
fi [ —— 1C —— o a6
| Remember ‘

% The place value of a digit in a numeral is the product of T
|
| the digit and its place in the numeral. i

= " — e—| - - 1| e ——— ¥ X

Now, let us find the place value of different digits in 6-digit numbers.

L T.Th Th H|T O mp The place of digit 7 is hundreds.
B 3 5 17182 ;
So the place value of 7 is 7 x 100 or 7 hundreds.
L T.Th |Th
6 3 5

L|T.Th| Th
w24 0

The place of digit 5 is thousands.
HTO e
0 9 2 ) So the place value of 5is 5 x 1000 or

5 thousands.
HTO
5 9 4

The place of digit 2 is ten thousands.
= S the place value of 2 is 2 x 10000 or
2 ten thousands or twenty thousand.




i enter

eds. |

LITTh Th H T O The place of digit 4 is lakhs.
R e

So the place value of 4 is 4 x 100000 or 4 lakhs.

Worksheet 4

. Look at the place value chart given below and write the place value of the

encircled digits.

Lakhs Ten Thousands | Hundreds ’ Tens Ones
(100000) | Thousands (1000) (100) L (10) (1)
(10000)
(a) 2 9 0 @ 6
(b) 7 @ 0 3 1 3
() 5 8 3 @
(d) @) 9 8 3 2 6
(e) 6 @ 5 4 9
. Write down the place value of the digit in bold.
(a) 3491 (b) 80109 ) (c) 321893 (d) 6505
(e) 76321 (f) 19568 (g) 235740 (h) 4923

. Underline the numeral in which the place value of 8 is 80000.

(a) 38291  (b) 4328 (c) 84720 (d) 829

. Underline the numeral in which the place value of 2 is 200.

(a) 253410 (b) 48295 (c) 72843 (d) 45782

. Compare the place values of the encircled digits in—

(7)4 6 2(7)3




PERIOD

As the size of a number increases, we find it difficult to read the number. So, to real
numerals for large numbers without any difficulty, we group the places into period

The six places are grouped into three PERIODS.

These are

I’ A

Now, let us observe the places of each period.

[ Divide 654823 into periodsj

r'd v Y

L TTh | Th H T| O
6 2 4 8 2 3

e The first three places from the right that are Ones, Tens and Hundreds make
the ONES period.

* The next two places that are Thousands and Ten Thousands make the
THOUSANDS period.

e The sixth place comes in the LAKHS period.

We read 6 54 823 as six lakh fifty four thousand eight hundred twenty three.

10




- —— i

B =) ‘rm._x:‘j ]
|| Remember i
read i £
bds 7 e While reading the numerals of a number, all the digits in the same period are read 1
) together, and the name of the period (except the ones) is read along with them. H
4; e Inorder to separate the periods, we leave alittle space or insert commas in between the ’
| periods, e.g. 643926 is written as 6 43926 or 6,43,926. ‘f
C)Lf L il ! 3 , u“—“—j[f:
The following place value chart clearly shows the periods and places of each
digit of a numeral.
PLACE VALUE CHART
PERIOD — | LAKHS THOUSANDS ﬁ ONES
, | R | -] e
Lakhs Ten [ Thousands [ Hundreds | Tens Ones |
PLACE — |(100000) | Thousands [ (1000) { (100) [ (10) (1)
(10000) | | } |
e What is the period and place of 1 in 3,48,0167?
Period Ones Place ! Tens |
e What is the period and place of 3 in 9,23,108?
Period | Thousands Place [ Thousands ‘
Answer these questions.
ke 1. What is the period and place of 8 in 3,48,0167?
‘ Period | ] Place |
he

2. What is the period and place of 9 in 9,23,1087?

Period _ E Place ;

n




1. Name the three periods into which a 6-digit number is grouped.
2. Mention the places in Ones and Thousands periods.

3. Rewrite the following numerals using commas between periods.

(a) 91409 (b) 113625 (c) 824300 (d) 98461

(e) 310008 (f) 444444 (g) 100000 (h) 505001
4. Write the period, place and place value of the encircled digit in each numera

(@) ®,41,968 " () 26,04® |

(c) 7,08 ,@32 d) 8,00),432

(e) 30,049 (f) 6,66),666

(9 8,01,0203 (h) @,38,620

5. Write the numerals using commas between periods.
(a) Sixty two thousand three hundred.
(b) " Thirty thousand one.
(c) Two lakh one thousand three.
(d) Six lakh twenty nine thousand sixty.
(e) Fifty thousand fifty.
(f) Nine lakh nineteen thousand nineteen.
(g) Fourteen thousénd thirty one.
(h) Eight lakh one thousand three hundred one.
6. Write the number names for the following numerals.
(a) 75,831 (b) 3,65,186 (c) 1,00,301 (d) 95,000
(e) 3,08,751 (f) 7,07,707 (g) 6,60,660 (h) 40,004

12




jeral.

EXPANDED FORM

Do you remember the expanded form of 34987

| 3498 | =P I 3 thousands + 4 hundreds + 9 tens + 8 ones l

In the same way, let us write a 6-digit number in expanded form.

><1000OO+7><1000O+5><1000+2><100+1><10+8><1‘

9,75,218
E Blakhs + 7 ten thousands + 5 thousands + 2 hundreds + 1 ten +8 ones&

900000+70000+5000+200+10+8

As shown above, the expanded form can be written in three different ways.

e e e e P i

| Remember |

| i-

| Expanded form of a numeral is the sum of the place values of each digit of the g
l‘ numeral. 5
Wg— = B e e e 2 - A 1,;,7
T |

Given the expanded form of a number, we can also write the numeral in
standard form.

Expanded form ' Standard form
(@) 200 +70 + 5 = I iiens il
(b) 8,000 + 500 + 20 + 1 = [ 8,523
(¢) Zx10,000+0x1,000+5x100 +2x10+1x1 = | |

(d) 3 lakhs + 6 ten thousands + 5 thousands ]
+ 0 hundred + 3 tens + 2 ones = [

(e) 4 x 1,00,000 + 8 x 10,000 + 6 x 1,000 +
1x100+4 x10+3 x 1 =

—————————




Worksheet 6
1. Fill in the blanks.

(a) 75,162 = ’:j ten thousands + E thousands + i hundred -
: tens + z ones.

(b) 31,927 = ix1o,ooo+[jx1,ooo+L:x1oo+i_:’yx1o
| 31

(c) 4,86,293 = ;j lakhs + Cj ten thousands + ri thousands +
j’d hundreds + :_j tens + \TJ ones.

@ sot7ss = [ Jeo+[ Jermne[Jes

(e) 50,908 = 50000+0+[  J+[ [+[ ]

2. Write the following numerals in expanded form in three different ways.
(a) 91,409 (b) 1,13,625 (c) 8,24,307 (d) 98,461
(e) 3,10,008 (f) 4,44,444 (g) 8,00,134 (h) 9,00,009

3. ‘Write the standard numerals. The first one is done for you.

(a) 6,00,000 + 50,000 + 4,000 + 300 + 10 + 1 = | 654,311

(b) 60,000 + 8,000 + 600 + 50 + 4 TR IR
(c) 1,00,000 + 10,000 + 1,000 + 100 + 10 + 1 b+ R T A
(d) 90,000 + 0+ 700+ 0 + 5 18 | St .
(e) 6,00,000 + 0 + 5,000 + 400 + 10 + 0 - ?_‘Aj;‘:
(f) 4,00,000 + 30,000 + 0 + 0 + 20 + 7 = !,j__i
(g) 80,000 + 300 + 8 L .
(h) 7,00,000 + 10,000 + 6 - #;4A_:

ia



10+ |

| ORDERING OF NUMBERS

Do you remember how we compared the 4-digit numbers?

&

1’432 > 5’581 l‘*l()r : It ] I I ] ‘“—__‘T:]
|| Remember
3,852 < 3,941 J First compare digits in thousands place, then the !
5398 > 51328 || digits in hundreds and tens place, and lastly the 7
B B | digitsin ones place. 3
7,259 = 7,259 s : S—

In the same way, we can compare 5-digit and 6-digit numbers.

Worksheet 7

1. Compare the following pairs of numerals (“<”, “>”, “="),
(@) 36,491 [ | 78,491 (b) 98,397 [ | 9,83,976
(c) 99,909 [ | 99,990 (d) 86,253 [ | 86,254
(e) 1,16,430 [ | 1,16,430 (f) 84,001 [ | 84,010
() 7,53,829 [ | 7,53,289 (h) 4,00,414 [ | 4,00,441
(i) 63,800 | | 6,380 (1) 33313 '[ ..] 36,313

2. Encircle the greatest numeral from each set of numerals given below.
(a) 68,349; 68,943; 6,839; 16,349
(b) 11,001; 1,10,001; 10,001; 1,100
(c) 9,43,826; 9,43,286; 9,43,962; 9,43,268

3. Rewrite each set of numerals in ascending order.
(a) 50,050; 50,500; 55,000; 5,005
(b) 71,309; 17,309; 71,903; 17,903
(c) 4,38,654; 43,865; 4,83,654; 4,38,546
(d) 2,20,222; 20,002; 22,020; 2,02,202

4. Rewrite each set of numerals in descending order.
(@) 10,001; 11,001; 1,110; 11,100
(b) 83,456; 38,456; 83,648; 83,458

(c) 3,49,990; 34,990; 3,94,090; 34,909

(d) 7,70,777; 70,070; 70,707; 7,07,077

15




Brain Teasers : 1

—

1. Tick (¢) the correct answer.

(a) The greatest 6-digit number formed by using the digits 7, 3, 1, 0, 9 and 4

is—
(i) 974301 (i) 974310 (iii) 974103 (iv) 973410
(b) The period of the digit in 6,54,321 is Lakhs.

()5 (i) 3 (iii) 4 (iv) 6
(c) The smallest 6-digit number is—

(i) 1,111,111 (ii) 1,00,001 (iii) 1,10,010 (iv) 1,00,000
(d) The sum of the place value of 9 and 7 in the number 947635 is—

(i) 970000 (i) 907000 (iii) 101000 (iv) 900700
(e) 8 x 1,00,000 + 5 x 10,000 + 6 x 1,000 + 9 x 100 + O + 5 is equal to—

(i) 856095 (i) 856905 (iii) 850695 (iv) 865905

2. Write the three periods of a 6-digit numeral. Also mention the corresponding
places of each period.

3. You are given the following numerals. Pick out the greatest numeral ang
the smallest numeral from the set.

950 5,309 9,439 78,799 29,509 509
1,101 8,400 99,905 80,310 10,001 99,950

4. Fill in the blanks.

(a) The smallest 5-digit numeral is

(b) (i) 1 lakh = thousands.

(i) hundred = 10 tens.

(c) The numeral just before 90,000 is

16




9 and 4

bnding

al and

| 10. You are given some digits below. Form the greatest and the smallest
| 5-digit numeral using each one of these digits only once.

(d) The places, thousands and ten thousands, belong to the
period.

(e) Compare by using “>”, “<” or

11,111 [ ] 1,111

6-digit numeral?

. Write the standard numeral for:

(@) 5,000 + 20 + 3
(b) 600 + 70 + 15

(c) 70,000 + 7 + 700 + 70

“n

=" in the box.

(i) 9,87,091 I : | 9,78,091
. Write down the numeral which is one more than the greatest 5-digit
numeral.

. Which numeral has more digits—greatest 5-digit numeral or smallest

. Write down the period and place of the underlined digit in each numeral.

Numeral

Period

Place

- (a)

92,958

(b)

87,215

(c)

63,049

(d)

1,00,000

(€)

53,269

9. Compare the place values of the encircled digits in the numeral 4@0@2.




ADDITION AND SUBTRACTION

Do you remember addition and subtraction?

‘f\—fw

Let us solve some problems.
1. Add.
(@) 5,310 and 740
(c) 2,135; 4,531 and 1,321
(e) 52; 753 and 8,303

2. Subtract.
(a) 4,573 from 9,013
(c) 4,575 from 6,027
(e) 457 from 3,600

(b) 1,352; 531 and 296
(d) 2,132; 47 and 501
(f) 7,132; 60 and 205

(b) 2,518 from 8,746
(d) 2,538 from 7,537
(f) 2,753 from 4,532

Let us discuss more about Addition first.

Do you know?

Cwh =5 The numbers which we add are called Addends.
For example:

2)+@) = &)
/Addends|  [Sum!




ADDITION (5-DIGIT NUMBERS AND 6-DIGIT NUMBERS)

|
¢ ! Example 1: e Fl”
ON | TTh Th H T O "‘"A/ | sards N
20 i ‘::“f‘? B D
\ Irst we a ones, )
D g 10 28 7 (% thentens, ;
5 % then hundreds, f
( % then thousands, <
~— 3% and at the end ten thousands. >
. \ x
So, after adding, we have: . 4
g =1 g \\\_//" N R #
TTh'Th H T O
2i 1 3 4 2
+ 11 0 2 3 7
3 0 5 7 9
| 1 !t L___ Addingones
—— Adding tens

— Adding hundreds

| | ‘- — Adding thousands

| ——  Adding ten thousands

: (2 ten thousands + 1 ten thousands
' = 3 ten thousands)

' Example 2:

| ' Add 23,935: 53,441 and 21,253

‘ {
1 ’ TTh Th H 1 0 [ First of all, let us arrange
‘ 1 1{ «=———————— Carry overs 7 the addends in the
| 2. 3 9 3 5 : column form.
5 3 4 4 1 i) ‘
+ {2 1 2 Dn3
9 8 6 2 9
| | | L__ Addingones
. Adding tens

L Adding hundreds
? —— Adding thousands
—— Adding ten thousands (2 ten thousands +
9 ten thousands + 2 ten thousands = 9 ten thousands)

Thus, the sum of 23,935; 53,441 and 21,253 is 98,629.
19




Example 3:
Add 4,37,816; 2,29,318 and 3,21,359

L TTh Th H O

<«—— Carry overs

Remember
As usual, we start adding from
| ones, and add lakhs at the end.

R ) I OO RS e

T
2.
1
1
-
9
|

- Adding ones
- Adding tens
- Adding hundreds
~ Adding thousands
- Adding ten thousands
(1 ten thousands + 3 ten thousands +
2 ten thousands + 2 ten thousands = 8 ten thousand

|
|
|
|
|

E A

—

Adding lakhs y
(4 lakhs + 2 lakhs
+ 3 lakhs = 9 lakhs)

Thus, the sum of 4,37,816; 2,29,318 and 3,21,359 is 9,88,493.

Worksheet 1

1. Add.
(@) = JTh TR L H e 0
1 2 1 4 2
+ 5 3 8 0 7

2. Add.

(a) 10,657; 35,101 and 33,333
(c) 68,293; 439 and 30,292
(e) 333; 55,595 and 2,222

(b) 25,762; 21,234 and 10,001
(d) 42,738; 3,141 and 52,180
(f) 554; 2,132 and 81,419




11
‘—.~——‘.‘
i

|

om

and. 1

t‘——-———ﬁji :

busandsi

3. Arrange in columns and add.
(a) 3,53,175; 25,130 and 1,40,535 (b) 8,20,015; 17,057 and 1,30,155
(c) 2,535; 123 and 6,53,313 (d) 444; 4,444 and 4,44 ,444
(e) 35,015; 253 and 77,893 (f) 70,056; 4,38,295 and 6,666

4. Find the sum of the largest number of four digits and the smallest number
of five digits.

PROPERTIES OF ADDITION

' Add 75,312 and 12,313

———
-

2313 + @531 =

I‘Q‘ ot e [ mma— |

[P [ — — qr}n
’ Remember '

When we change the order of the addends, the sum remains the same. |

Now let us add three numbers.

Add 2, 5 and 8
We can add these numbers in six different orders (ways).

1storder 2nd order 3rd order 4th order 5th order 6th order

. 2 5 5 8 8
5 8 2 8 2 5
5B + 5 + 8 + -2 2] 12
15 15 15 15 15 15

N\m\\ﬁ
4 ! =
¢ The sum remains the same. >

o ST

Il ] [rr— g o — b e |
Remember

—

I
The sum remains the same, even after changing the order of the addends. '
‘*ﬂf‘m—‘]f‘m—’]i“}lﬁiﬁﬂ%%:][:‘h”

21




Add and fill in the blanks. Two have been done for you.

(@ 7+0 7 T
< lecandoit. /

(b) 0+15 15
(c) 25+0

(d) 0+ 372

(e) 75312 +0

(f) 0+ 52,341

1

“\ Remember

4  \When zero is added to a number or a number is added to zero, the sum 7

‘l is the number itself. |
: f"—_”‘f’_’—”ﬂf—"‘_‘ir———’z:——’ﬂ:—:_:%:}

‘Worksheet 2 i

1. Fill in the blanks.

(a) 75,361 + 2,135 = 2,135 +

(b) 45793 + 15911 = +45.793
92,501 + 123 + 111 = 111 + 92,501 +
21511 + 222 + 11,333 = 21,511 +
76 + r92=__ +92+15
_ _ +615+62=617+ + 615
75312 + 0 =
0 +9,21,216 =
579,301 +0=0+
0+2571=2571+
723 + =723




.

ADDITION (ORALLY)

' Add 40 and 50 orally.

Step 1:
Check addends
are in the
same groupings
that is 10's

In the same way, we can add:

(i) 200; 400 and 300

Step 1:
Check addends
are in the
same groupings

" that is 100's

(i) 1,000; 3,000 and 4,000

Step 1:
Check addends
are in the
same groupings
that is 1000's

0O + 0 =
0 H0 =
Step 3:
4 +5=09
Step 3:

Step 2:

In addends,
one zero is on the
right and hence,
in the sum.

Step 2:

In addends,
two zeroes are on
the right and hence,
in the sum.

Step 2:

In addends,
three zeroes are on
the right and hence,
in the sum.



1. Add orally. A

(a) 70 + 20 = (h) 100 + 200 + 500 =

| (b) 30 + 40 - (i) 200 + 300 + 200 =

| ()20+60+10=__ () 400 +300 +100 IR
(d) 30 + 20 + 30 = (k) 2,000 + 3,000 = B

| ()30 + 40 + 20 = () 5,000 + 11,000 + 2,000 = —

(f) 700+ 200 1 Sk e {00 43,0005 3.000 + 13,000 = » |
(@900+50 =_——— (n) 47,000 + 13,000 e |

We need to do addition in many situations in our daily life. Let us study som
examples.

Example 1: There are 54,453 men, 26,725 women and 11,052 children in a towrn ,
' Find the population of the town. |

Solution: Number of men = 54453 ]
Number of women = 26725 I
Number of chiidren = + 1105 2
Population = 92230

Therefore, the population of the town is 92,230.

Example 2: Rita and Pooja are friends. Both of them collect postal stamps. Pooj
has 2,150 postal stamps. Rita has 262 stamps more than Pooja. Ho
many stamps does Rita have?

| Solution: Number of stamps Pooja has = 2150
‘ More stamps Rita has = i 28 2
Number of stamps Rita has = 241 2

| Therefore, Rita has 2,412 postal stamps.

24




ty some

n a town.

ps. Pooja
)oja. How

Worksheet 4

1. Solve the following word problems.

(@) In an examination, 29,456 candidates passed while 57,281 candidates
failed. How many candidates appeared for the examination?

(b) In a school library, there are 11,250 Science books, 21,312 Maths books
and 20,143 Hindi books. Find the total number of books in the library.

(c) In a school, there are 1,752 students in primary classes, 1,825 in middle
classes and 1,790 in senior classes. Find the total strength of the school.

(d) A table costs X 3,690, Whereas an almirah costs ¥ 12,810, more than the
cost of the table. Find the total cost of both the table and the almirah.

(e) Raman purchased a house for ¥ 6,65,700. He spent T 2,975 on its repairs.
Find the amount he spent in all.

Let us discuss more about Subtraction now.

/"‘ Do you know Subtrahend & Minuend?
?“7‘, MY~ 9 8§ 1 5 «—— Minuendis the number from
. which we subtract.
2 - Subtrahend is the number 5
B 7 8 -~ to be subtracted. :
" Difference



SUBTRACTION (5-DIGIT NUMBERS AND 6-DIGIT NUMBERS)
Example 1: Subtract 32,573 from 75,492

First of all, let us arrg—\
T.Th Th 7 H , T - O _ (’mers in the column form.

10

e We cannot subtract 3 from 2, so we borrow
1 ten from tens column.

ST s = We can subtract 7 from 8 in hundreds column.

— We cannot subtract 5 from 4 in hundreds column, so we
borrow 1 thousand (10 hundreds) from thousands colum

WRRNE -SEP ST S P We can subtract 2 from 4 in thousands column.

Subtracting 3 ten thousands from 7 ten thousands,
i.e. 7 ten thousands — 3 ten thousands = 4 ten thousands

Thus, the difference between 75,492 and 32,573 is 42,919.
Example 2: Subtract 5,29,257 from 7,97,305.

L TThTh H T O
‘S
10, .=

T o
5
4
A
|
|
!

t _  We cannot subtract 7 from 5. Let us borrow
1 ten from tens column.

But in tens column there are zero tens. So, let us first
borrow 1 hundred (10 tens) from hundreds column
and then, take 1 ten from there.

We cannot subtract 9 from 7. So, let us borrow
1 ten thousands (10 thousands) from ten thousands
column.

8 ten thousands — 2 ten thousands = 6 ten thousands.
— 7 lakhs — 5 lakhs = 2 lakhs.

Thus, the difference between 7,97,305 and 5,29,257 is 2,68,048.




| SO we
5 column.

B,
pusands.

ifirst

inds.

To check the difference: Sum of the subtrahend and the difference
should be equal to the minuend, as shown below:

F 9 7 3 0 6 [ Mnuend J~ =5 2 T BN
-5 2 9 2 5 7 (Subtrahend )~ %2 6 8 0 4 8
2 6 8 0 4 8 ( Difference )~ “»7 9 7 3 0 5
. Worksheet 5
. Subtract.
(@) 78,321 from 85,213 (b) 96,570 from 97,295
(c) 62,783 from 71,057 (d) 88,732 from 89,560
(e) 42,150 from 50,000 (f) 53,008 from 79,096
. Find the difference between—
(@) 6,54,372 and 1,28,453 (b) 9,76,517 and 5,28,753
(c) 5,484 and 7,98,454 (d) 57,357 and 2,99,059
(e) 9,76,287 and 62,578 (f) 64,686 and 9,86,468
. Perform the following subtraction and check the answers.
(@) 9,347 — 1,251 (b) 6,792 — 4,321
(c) 62,546 — 61,777 (d) 1,90,000 — 89,999
(e) 6,98,527 — 2,56,798 (f) 5,43,922 — 4,31,789

. Find the difference between the largest number of five digits and the

smallest number of three digits.




We already know,
7-0=7
5-0=5

ch? e e———

|
Remember

When we subtract zero from a number, we get the number itself.

Worksheet 6

1. Subtract the following:

(@) 16=0eles al

(c) 82-[ |=82

e [ |-0=732

(g) 457 =  |=457
(i) 513-|  |=513

SUBTRACTION (ORALLY)

Subtract 30 from 90 orally.

Step 1:
Check minuend
and subtrahend
are in the same

places,

that is tens. |~

rre | E———— e | P m—"

|

)

JL___,____:);—:C_‘_;—‘__:-J:’—#

(d) 432-[ |=432

® [ ]-0=1,689

() 0- =0
00— | 0=kl T
( Step 2:
e 4] In 90 and 30
ey D (  onezeroison!

right and henc
(inthe differenc

— Step 3: T \/\/ ® it \\\»/14,.« Lt 5
. 9-3=6 5



In the same way, we can subtract:

(i) 500 from 900

900 — 500 =400 In 900 and 500,
| ¢ byt < two zeroes are on the
| \ [ _right and hence, in
R e T — =4 the difference.
(ii) 2,000 from 6,000 S
5000 — 2000 = 4000 ¢ In6,000 and 2,000,
| f 4 «  three zeroes are on
‘ || the right and hence, in
- [ — — the difference.
G- 2 = A58 o
| Worksheet 7
1. Subtract orally.
{ ~ (a)60-20 = (b) 90 — 20 SV
!
(c) 40 — 30 = (d) 80 — 30 - S LR SRR
(e) 400 — 200 = (f) 700 — 300 =
(g) 900 — 400 =__ E (h) 8,000 - 3,000 =

() 7000-4000 =__  (j)8,000-6,000 =

(k) 27,000 — 17,000 = A (1) 45,000 — 4,000

(m) 99,000 — 9,000 (n) 16,000 — 11,000




We need to do subtraction in many situations in our daily life. Let us stu
some examples.

Example 1: There are 62,438 bags of rice in a godown. Out of these, 15,2
bags were sent to different markets for sale. How many bags of i
remained in the godown?
Solution: Total number of bags = 6 2438
Number of bags sent to different markets = — 1 5 2 5 9
Number of bags left = 4 7.1 7 8
Thus, 47,179 bags of rice remained in the godown.
Example 2: Mr Gupta’s monthly salary is ¥ 12,530. His wife earns X 550 less tf
- Mr Gupta. Find the monthly salary of Mrs Gupta.
Solution: Mr Gupta’s monthly salary = TiRi5.3 U
Less salary Mrs Gupta earns = - S
| Mrs Gupta's salary = 11980
: Thus, the monthly salary of Mrs Gupta is I 11,980.
Worksheet 8 |

1. Solve the following word problems.

(a) There are 48,570 plants in a nursery. Its adjoining nursery has 51,2
plants. Which nursery has more plants and by how much?

(b) In 2011, the population of a town was 5,75,890. If the number of males W
2,98,170, find the number of females in the town.

(c) How much more is 16,500 than 14,7567

(d) What must be subtracted from 5,25,873 to get 1,75,693?
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Value Based Question

Amol, Deepak and Krishna were

good friends. Of these three friends,
Krishna was very poor. He was not
able to buy new books and new set
of uniform for his new class. Amol
and Deepak wanted to help Krishna.
They spoke to their parents and

gave ¥ 1,250 and ¥ 1,075 to Krishna.
It helped Krishna buy books and

uniform for the new class.

1.
2.

How much money did Amol and Deepak give to Krishna?

If Krishna needed ¥ 2,000 for his new books and uniform, how much money is
left with him? '

How do you feel when you help others?

Brain Teasers (AppiTION & SUBTRACTION)

1.

Tick (/) the correct answer.

(@) When we add 100 to 9,136, the digit at place increases by 1.
(i) ones (ii) hundreds (iii) tens (iv) thousands

(b) The greatest 2-digit number is less than the smallest 3-digit
number by—

(i) 10 (i) 9 (iii) 1 (iv) 0
(c) 7,000 — 5,000 — 2,000 =
(i) 0 (ii) 3,000 (iii) 2,000 (iv) 1,000

(d) 400 more than the successor of 399 is equal to

(i) 401 (ii) 499 (iii) 400 (iv) 800




(e) 10 + 101 + 1,001 + 10,001 is equal to

(@)
(b)
(c)
(d)

(i) 10,013 (i

. Solve:

85,781 + 78,989
48,125 + 9,999
7,56,480 — 51,345
80,000 — 79,899

i) 11,113 (iii) 40,111

(iv) 11,001

. Write down the largest nl_meer and the smallest number of four digif
which no digit is repeated and also add them.

4

. You are given a magic square. Use the numbers from 1 to 3

9 only once and complete it so that every row and every

column adds up to 15.

5
1

A student was asked to write numeral for seventy six thousand and
He wrote 7,605. Find the difference between the correct answer anc
answer.
_ The difference between two numbers is 48,506 and the greater numb
1,00,009. Find the smaller number.

. Fill in the blanks.

(a)
(b)
(c)
(d)

(e) -

(f)
(9)
(h)

4128+ =

+ 82+ 71
If 75 + 169 + 1,001
MA + 1,111 + 11
_-0=785
4,500 — 1,500 =

4,128
= +96+82

= 1,245 then, 1,001 + 75 + 169 =
1+11+1=

18,000 = i
7,500 + 2,500 =

= 8,000






